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SSC CHSL (10+2) 2022

® The relation of 'Bangladesh' to 'Dhaka' is the same relation to 'Pakistan'. [SSC
CGL 2020]

* FNATCTT 1 BRI § ST Hal¥ &, T Heiel TR T ¥ 2

A Karachi
___B-Multam—

\<Z D. IslamabaEé
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®* The relation of 'criticism' to 'condemnation' 1s the same relation to
'solidarity‘[SSC CGL 2020]

* ‘ST o1 =T | i el B, Je] Hele Wehs(edT 1 ' H @

=

B. Guilty/3TaeT

C. Prosperity/gHI-
D. Atrocious/T3¥




SSC CHSL (10+2) 2022

*® Direction: In each of the questions below five words are given. Four of these
five words are similar in some way or the other and thus form a group of their
own. State which one of the following words is different from the other four

words. find the odd word. [SSC-CGL 2017]

o fe3T: e o T T O 1 Ui e fo¥ T 31 39 Ut vIee] § § AR e fohEt-A-
TRl Toh R € Ueh SHT & T 58 TohR © A JTGHT Teh HHE h [HIUT Fld & STTC foh

STH U hi9-9T Ush UHT I[ee, ST 377 I yea] 9= 21 39 19— 318 ol J1d fehiTT

A.Lion/3X
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*® Direction: In each of the questions below five words are given. Four of these
five words are similar in some way or the other and thus form a group of their
own. State which one of the following words is different from the other four

words. find the odd word.
o fa3T: = o 713 Ieh T | Ui e fod T ] 39 U Yeci H U IR I16g ot ]-A-

TRl Toh R € Ueh SHT & T 38 TohR € I 9T Teh HHE 6l Fd | ST foh
STH U hi9-9T Ush UHT Iee, ST 37 I yea] ¥ 9T 21 39 194 31s¢ ol J1d fehisTT

\/{é. Badminton/sgHe }
BRQ“Q —B. Hockey/g!

3 \Q-Q —C. Table tennis/Ssc <@
Q\D-Q —D. Cricket/fshehe




SSC CHSL (10+2) 2022

® In a certain code language, WARDROBE 1s written as YXVYXHIJV. How will
ACCURATE be written 1n that language? [SSC - CGL 2020]

o fopell ff2rd s Wit H, WARDROBE %! YXVYXHJV % &9 ¥ {cfia ST @ | 3¢t

Wﬁﬁ/xC&URATEﬁ%@IQ’I@IIMI\‘II ? \/
2

.CZGPXTBV




SSC CHSL (10+2) 2022

® In a certain code language, EARTH i1s written as 8201815. How will ORBIT be
written 1n that language? [SSC CGL 2020]

* Teh 3 o WTNT § EARTH %1 8201815 fofia STt 21 6 9191 §f QRBIT 3 ¥
e N

? /]
e / / e Do 15
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® Ram starts from a point, goes 10 km North, turns right and goes 15 km, turns
left, goes 8 km turns back and goes 25 km South from where he turns right and
goes 15 km goes . In which direction 1s Ram going now? [SSC 2008]

* TH Teh T © Tl &, 10 TorHT T shT ST SIAT €, 3¢ FHAT § AN 15 foheft ST &,
SITC EHAT & 8 ToRHt STTT @ Wie SHeT & 3R 25 foret afeqor it AT Sirar & S_i 9 arg
THAT & 3T 15 foreft ST 2 | o7 T o feem & S aeT 2 7|

L Ea @ Sk Bast/d

Rl . West
i _ [okm \lbkm C. North/3tX
D. South/afaror
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* A man 1s standing facing south. It rotates 135° in the anti-clockwise direction

and then 225° 1n the clockwise direction. Tell which direction he is facing?
[Income Tax 2004 ]

* Ush JATGHT Sfa0T faeT sht 3T 78 fordl @t ? | 98 Ul aeitenals st faxmm § 135° W
FHCT & S [T FeAfehalsst fa=TT H 225° W HAT & | 915y, foh o8 forer famim <ht 311

Hg fRI U e 2 N L€
9O S ) |
AP ) A.East/5d

G Qe

& f ,
= D. South/af&yor

a
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* If Amut's father 1s the only son of Billu's father and Billu has no brother or sister
then what is the relation between Amit and Billu? (SSC 2009)

* fe 3TfHA o1 T fore] ok o oAt Sehcttar O @ AR foiee] T iS TS A1 915 81 ©
T AT IR foree] o it o defer &7 B

B
y \‘\ 7 rﬁ,ﬂg\ A. Uncle-nephew/=IT=IT - WSt
€_  0 \;.,% @ B Aather and daughter/fﬁ?ﬂ 3R
I{/ : . .
v Fa
C. Son — father/aleT ),
D Grandparents/ aral
E. None of these/3TH & hig gl
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® There are 45 trees in a row. Lemon tree 1s 20th from the right end. What is the

position of lemon tree from the left end? [SSC - CGL 2017]

* Te Ul H 45 &7 §| e T J&T FTH SR § 20 €A W 2 | e o JaF T LA a1

A.24
B.27
C.26
D.25
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* A group of 2400 persons including captain and soldiers are traveling in a train.
This group comprises a Captain for every 15 soldiers. Tell how many captains
are present in this group?

® 2400 AT T Toh THT SH hee I Gfeh TSI & ol o1 H A1 ot T8 21 39
e choh 15 AfET FEY 0 Ueh Shte QT 81 SIdTY, foh 36 €8 H et foha
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® Aarti has some cows and chickens. If the total number of heads 1s 48 and the

number of legs 1s 140, then how many chickens
* TR o ITH S TR AR AT &1 Afe et Rl 6
<, 1 36k T fohaHT HT &2

does he have?

H@Tﬁ?ﬁﬁ?ﬁ

A.22
B. 24
C.26
D.23
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® [f '+'1s written as '+', 'x' as '+', '+' as '-' and '-' as 'x', then solve the given
equation.

e 7 o FH AT+, % FiAT e, 0 Hfageo sl % o forar oA

&1 TS GHIRTUT Rl 8 ShifSTU)
*20x4+5+5+10=2

A.10
B. 12
C.15
D. 18
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®* In each of the following questions, which letter group will complete the given
letter series when sequentially placed in the blank spaces? [SSC CPO 2015]

HETT AT ol I HTT?
* BRCCABBCCABBCCABZCCA

— —

N

IfE

0
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®* Find the next term.

® AT IS T ehifeTl
* 120, 99, 80, 63, 48, ?

A.35
B. 38
C.39
D.40
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®* Find the next term.

® AT UG T hIINIT
*2, 15,41, 80, ?

A. 111
B. 121
C. 120
D. 132
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® 8:50 to 20 minutes to the meeting point Arriving first, Sanjay found himself 30

minutes earlier than the one who arrived 40 minutes late. regular meeting what

was the time.

o THST o T W 8:50 | 20 THE Ugct Ug=reht €T = 40 W 3 § 3T aTed S <h

1 T | 30 Tie U8ct Ge sl ar| Tier ot fHafid eoe i o2

A. 8:09
B. 8:20
C. 8:05
D. 8:10
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* which day of week will not the last day of a century?

* GUTE kT ki @7 faq |t a1 3ifay foa 72t g

Y,

A. Friday
B. Monday

C. Thursday §

D. Sunday



